® 1.3

@) vo1
O

0.04

@) vz
@




v
oo
ofn
n
>
lo
=
B
r -]
i
N
8o
Mo
=
1o,
3>
rr
2

@ V37T-1<6

© V2+4<V3+4

® -+/(-3)°

: 1 1) +2>-410-1
_<_
2 2

® 4-V2>2+ 2

© 174
@
274 ® 34 @4711
® 57

@4-V2-2
° _\/§=
LA-2<24 2 PTEVEE VIR




oviz ovir @)

@ 39

® V52

V25 < x < V36
- V25 < V31 < V36




4.

€) 2 = 4 ©] AlBolrt.
/) 2 /(-2 o AEolt,
(@) - VI6 ©] & —4 o]tk

@ (), (L), (&) @ (), ©.E) @("),(E),(ﬂ)
@ ().@)E) ONCACKC)

(L) 0 o AlEE2 0 ot

0
B /(-2)? 9 AFZ2 £ V2 otk




tha  Alade Hehd o, 298 ARESHA] ghote = A2
= ARJA7E?

1 . 4
12,04, 16’ 0.4, B

@ 171 @ 271 @3711 @ 474 ® 57

B

12 o] Al +V12

0.4 o] AlFT V0.4
1 1
— O A|lFL ==
16 —‘] ﬂl:l +4
. 2
0.4 _q] 7‘1]:1:1'—% ig
2

4
o] A _J_'_’_:L‘_ -
—25 o] AlE +

Ut







)

2 TEN2
%%M:(\/g) + (g) ~ V9, B= VI00 - /(-13)°
A uf, 104 - B 9] & Fstoizt,

>
|> b= i 3

oHd =

B —
() - pe e

B= V100 - 1/(-13)> =10-13 = -3
w2tA 10A - B =0~ (-3) = 3 °|t}.




8. T2 4 79 & A,B,C,D 7t Bt He S F A4 Fe A
(a,b,c,d) Q] g2 o2 shtE Zotet

2
T

: VI0+a= V16 ..a=6
VI3 +26= V25 . bhb=6
tV3Zx2x5xc ce=10

c/Tx(d+1)=V19 ~d=6

O QO % >




9.  VEST-2x 7} A5 ©, AA% x o gro] ¢ T

@ 8 @ 9 @10 @ 11 ® 12

&8

V384 — 24x oA

384 — 24x = 24(16 — x) O| 22

\/24(16—x) = 26 x V16-x ©]t}.

= 2V2x3x Vi6-x

16-x=6x12=6

x =10 °Jth.
16-x=6x22=24 & x <0022 x 7} A571 = & gl

whA x = 10 9] 3t & Aot




10. thew)

Zo] ZEHH 919] HAZ4 OABC 4 OA = 0Q,
BC =BPolth. = A P, Q 7

o x HEE A7t p, g2 B W p+g

are patolet,
yl\
ol C
l*l } Ql >
O P2/ /42
_2__
A

p=4-22
g=0+2V2=220]22
p+q=4-2V2+2V2=4 0|t}




